Al

20008 = =0l &b LB |

2N FeMEXE L
M ZIEE 2el € K&
el E29 & AL =

=

Al

—

Ak

&g d Al A

SN HE - SR(B) - MRAY - BES 0l arey o HI D2
OIS X2 Dt 15,436,433 15,858,793 A422,360
= 9,846,153
= 60,826
= 1,383,257
i 4,146,197
IIEE 2el € XA 190,340 275,280 284,940
229 g At =& 21,340 19,280 2,060
S35 FEA Y AILS FH| 12,340 10,280 2,060
201 LBr2EY| 10,840 8,780 2,060
01 Ar2teld] 10,840 8,780 2,060
1)er=g4| 10,340
2)BEQ € DI HE 60,000* 1571 &~ 900
2)289 ¢ SH E&E I 460,000% 1170 2 5,060
2)8EY FEA BEE M-8 2t 300,000% 1470 &~ 4,200
2)2EO Y BEIIE HAE ME 20,000#674 120
2)R2AEIH M 200x300% 60
nNexz 500
2)85Y A HEAIL LU= 500,000 500
301 LetsEas 1,500 1,500 0
10 SAtABI2aS 1,500 1,500 0
NEsY #MAF BT o & 4 WS 1,500,000 1,500
2EIIE /=2 9,000 9,000 0
|




A FRMEXA D0
dH: ZJEE 22l € XN
el B0l o Al £ CLR-E)
SA - FB . GI(EN) - MRAY - B2 0fl &k o o HIRE2
301 LetEas 9,000 9,000 0
01 AMABEELH= 9,000 9,000
NEEY BEEII=E A2 30,000%300 9,000
ZIS3 A XA 169,000 256,000 287,000
E=HH XA 31,000 16,000 15,000
201 Ler2d 4,000 0 4,000
01 AtR22H 4,000 0 4,000
nexts 4,000
)= AMRA AX= 4,000,000 4,000
307 2I2+OIM 27,000 16,000 11,000
02 SIALEX 27,000 16,000 11,000
NESCH H2HE L AXMX AIZ(6MSH) 12,000,000 12,000
NESCH 153 (6JHEA) 8,000,000 8,000
NHEY 2RI X 2,000,000 2,000
NEEZL A 2 1,000, 000+5CH 5,000
HERSA N 138,000 150,000 212,000
301 LetEasg 138,000 150,000 212,000
01 AlE2ZEH =63 138,000 150,000 A 12,000
N~ 20,000«550H 122 132,000
NAIZL23 150,000%40H 6,000
HAANE =X SA 4,557,100 4,824,518 N267,418
= 1,843,740
= 367,697




HEMA =

BB - NIRAY - ByS 0l & o DS

= 2,345,663

QIME MHIA XT3 SEMA BE 1,577,461 2,151,641 A574,180
= 144,637
< 18,080
= 1,414,744

KA ALSI S RIAH 1,091,114 1,092,692 A1,578

101 Q1244 955,775 981,422 N25,647

01 JI== 571,226 575,185 A3,959
DAEI=EX 571,226
2)63(1788) 2,167,4003 x2H «128 52,018
2)72(1288) 1,715,6003 x62H 128 123,524
2)8=(653) 1,213,700 x 148+ 128 203,902
2)92(353) 973,900& 13F« 122 151,929
)2+ 531,373,000&*0.9/12 39,853

02 =< 105,750 127,690 21,940
DAIRI2IZ 27,941
2)62 8,312 x2&*10A1 2t*12E 1,995
)72 7,457 3+6H+10A1 2tx 123 5,370
2)82 6,682 «14H *x10Al 2H+ 123 11,226
2)92 5,993« 13H x10AI 2t 123 9,350
noEg 16,128
2)BH < Xt 40,0003 x20H+0.78«12& 7,488
2)JIEDt 20,0002 202 *1.80«12& 8,640




2 A

SECE
Ehol: SAHIA @ Y HLH I 2 e
SH - H . BR(BH) - HRAY - BES e
NXEEEIE =+ 10,321
2)=sh 815
RIE=PN 51,4002 2H *43] 412
3)2=2 X 50,3103 +2H *43] 403
2) NSEHM 9,506
31=X 420,790 *3H *43] 5,050
3)2= X 371,290& x3H*43] 4,456
NE2:LoHRZ2 15,240
2)5= 014 10012t 50,0002 14+ 128 8,400
2)10=0l4 154 0|8t 60,0003 *5H 123 3,600
2)15E 014 204012 80,000 ~2E x 122 1,920
2)20 014 254 0| et 110,000& x 18122 1,320
NExgR2ag 36,120
2)NEIEX R 30,0003 35 x12& 12,600
2)88s 2R+ 70,000 28 123 23,520
03 HHSAH 54,600 54,600 0
DAIEISX 8322 130,000& +35% 123 54,600
04 ws=E=H| 52,800 51,360 1,440
1672 130,000& x20E 122 31,200
1)8-92 120,000& x15H 12 21,600
05 FEFIH 53,138 53,506 A368
DA =X g2 531,373,000&1.2/12 53,138
06 JHAIXIAHI 88,740 89,355 AB15
DA =X g2 531,373,000& *16. 7% 88,740




S FEOIMETIRID
=|
M

mu: Fojs =1 =
el =OIMEAHIA X 2 A = (&t &3
SA - FB . GI(EN) - MRAY - B2 0fl &k o o HIRE2
07 GItE4HI 29,521 29,726 A205
DAIEISX dgESR 531,373,000 *1/12%1/30+20L 29,521
201 LBr2E| 28,850 26,700 2,150
01 AtR22H 19,850 15,700 4,150
1) =84l 6,000
2)NSISXANH 5 E22 M 5,000+3Z #4005 6,000
negsy 9,300
)KNAAMSIEAM RS 3o HAR 70,000+ 15 *62] 6,300
NS SXNZSRA HEF| 2AE 500,000%2H 1,000
)KNAANS SRS A4 2AL 500,000%43] 2,000
1)=& 4,550
2)SXDELREX DA 7,000+3E+130& 2,730
2)NIAASI MEIAE XA HRFX DA 7,000%28 %130 1,820
03 A2 9,000 11,000 42,000
DAZISXEEZS 2 HAES 6,000,000%13] 6,000
DXSASSXEAM A& 3,000,000+12l 3,000
202 O4d| 16,829 19,750 A2,921
01 =3LHAbI 16,829 19,750 A2,921
1)ZF0IMEMHIA S XIE0I 75,8003 x182] 4,094
NF0METAMEIA NS Y 39 &A 75,800%2% *83] 1,213
DX SAS MEIAALY S X &0l 75,800+3F *202] 4,548
N2SXNA&E SXIE 0l 75,8002 *303] 4,548
NoI=sJ143 22 =4 75,800+4 % 83| 2,426




SA 2l
M Fols =X 5
Chol: ZEDIMBAHIA K@ Y FLHN 2 CERED
S B S9(S0) - MRAEY - BaS e 2
204 XNIP-ABY 71,760 47,820 23,940
02 Ms=2xH] 50,760 47,820 2,940
1)6= 155,000 «2& » 12 3,720
073 140,000 x13& x 122 21,840
1)8-92 105,000 +20& 123 25,200
03 SdgF-destl 21,000 0 21,000
noglEst 50,0002 *x35& * 12 21,000
301 Let2d=s 7,500 17,000 29,500
10 HAMBIRSE 7,500 14,000 6,500
DXSARIE oM =012 A0 4,500,000 4,500
DA E2AM 32 FAN 2,000,000 2,000
DXSARIEAM 22E 40| 1,000,000 1,000
307 @z2told 10,400 0 10,400
02 QFHEx 10,400 0 10,400
DAIZISXISARL HSUE 8,000,000 8,000
DXSAR =X E M 23 2,400,000 2,400
KA A AS A ALY 182,297 192,519 10,222
=2 144,637
= 18,080
o 19,580
201 £et2dH] 1,500 1,500 0
01 A2l 1,500 1,500 0
DXSAS AMHIASHMAY S22 M 5,000%300 1,500




S FOIMEXIRIDL
M Fols =X 5
Ehelr FoMSAHIA X3 & MEHAH = (el &)
SA I BB - NRAY - B2 0l & o DS
307 gltold 180,797 191,019 N 10,222
= 144,637
S 18,080
= 18,080
05 BIP&= 180,797 191,019 210,222
DXISHEE AL 151,200,000 151,200
= 120,960
S 15,120
s 15,120
DXSLEE AL 29,597,000 29,597
= 23,677
< 2,960
s 2,960
T MEX A MHIAANY 67,650 97,030 229,380
201 Ler2d 62,650 72,030 29,380
01 Attt 11,000 9,000 2,000
=M T AMEIACHIM & 2018 =Z oA M 5,000%250F *43] 5,000
120108 & RISHAISISX AIBAE A HZ 20,000%3005 6,000
02 =224l 43,650 55,030 A11,380
N332= 2 HMAl 9,000
)RS TI AN A S32I(1HSY) SO 2,500+2,00024 5,000
2)FLUMETIAMEIA SBRS(14HSH) Lot 250%16,000 4,000
RS EN] 34,650




SA 2l
M Fols =X 5
Chol: ZEDIMBAHIA K@ Y FLHN 2 CLRE
S B S9(S0) - MRAEY - BaS Of o o HIDS
2)8Y SXxE KNSIHAl 300,000% 14CH 4,200
2)8H =N 282 350,000 14CH 4,900
)Y SAXY SFNdRe= 25,000%14CH 350
)88 =X |FU & KA 1,500,000+ 14 21,000
2)88 =XxtE ==l 300,000%14CH 4,200
03 Ar=gHl 8,000 8,000 0
DIIG-XIXM2 I8 =8 8,000,000 8,000
301 2Eet2ds 5,000 0 5,000
08 AYI=HOHI 5,000 0 5,000
IS =0 5,000,000 5,000
OlSABIA X 161,000 20,000 141,000
201 €BH=gHl 13,000 20,000 A7,000
01 AtR22lb] 13,000 20,000 A7,000
122D OISMEIAAIY 2] 13,000,000 13,000
307 glz2told 128,000 0 128,000
02 UAAHEX 128,000 0 128,000
1)0ISNE=XXY 24 48,000,000 48,000
D=6 Lelis 29 80,000,000 80,000
402 RI2tXH=01H 20,000 0 20,000
01 2iZtit=Ex 20,000 0 20,000
nolts MElIsES 20,000,000 20,000
SN 292 70,000 740,000 A670,000
306 EH= 70,000 740,000 A670,000
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201 Ler2d 900 900 0
01 AtR22H 900 900 0
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S FOIMEXIRIDL
M Fos =X 5
Chel: EOHOI ZXIMHIA U MEOIE K@ ELR-E
SA - FB . GI(EN) - MRAY - B2 0fl &k o o HIRE2
D= 1,920
)ZCINSUE AAE 2L 50,000%10 500
2)Z0HCIe] & AL Y MSKUS EIHDIEE M= 20,000+50H 1,000
2)Z0HRISl & AL L MSUE ZSIHE MZE 60,000%7IH 2 420
nexts 500
)XNMEOHES AFRA LHESZ2 500,000 500
301 LetEas 2,900 2,900 0
10 AIAHIZE A= 2,900 2,900 0
nNEoel oalsAdws o HOILE &4 50,000%30 1,500
DA ¥ HECL0| 23 1,400,000 1,400
307 2I2+01™ 45,400 40,400 5,000
02 QIHANEZX 45,400 40,400 5,000
NE Zoiel XM=os &ILXI&LI 12,000,000 12,000
N Zoieloi=r & Jlsthal EIHXIH 1,000,000 1,000
NE ZoHel HWESEUS X2 1,400,000 1,400
1T O 2SMEME 6,000,000 6,000
Nz Zoiel sote MEsatsl X 25,000,000 25,000
ool A= 257,000 257,000 0
307 gltold 257,000 257,000 0
01 =¥ =l 257,000 257,000 0
NEMe REXZH] 254,000,000 254,000
NEAZOIE USZHOIZ ==F MWEXZHI 3,000,000 3,000
H0H=E XS 1,201,800 1,159,986 41,814




A F=0IMET A
Hy: FHoE =X S
Chel: EOHOI ZXIMHIA U MEOIE K@ CLR-E)
SN EB . E(B) - HBEAY - BES Ol are o HIDS2
Zof=g K& = 841,260
& 180,270
= 180,270
301 LetEaag 1,201,800 1,159,986 41,814
= 841,260
& 180,270
i 180,270
01 ASIEEE=SGZ3 1,201,800 1,159,986 41,814
DR ES=, 1,201,800, 000 1,201,800
= 841,260
= 180,270
= 180,270
Zoots2Ld== A& 52,857 36,732 16,125
= 37,000
& 7,928
= 7,929
301 LetEa=a 52,857 36,732 16,125
= 37,000
& 7,928
i 7,929
01 ASEEEG6S 52,857 36,732 16,125
NEMOISES 52,857,000 52,857




2 A
X XH .
(=2l

el

SN EB . E(B) - HBEAY - BES Ol are o HIDS2

= 37,000
= 7,928
i 7,929

ol MeE2xJ|1+7 XA 2,000 3,445 A1,445
= 1,600
i 400

301 LetEa=z 2,000 3,445 A1,445
= 1,600
i 400

01 AlEZEH=63 2,000 3,445 AT,445
NEOHC MEBXI|F X 2,000,000 2,000
= 1,600
i 400

SHE ZOHCI== ALY XI& 38,000 38,000 0
= 19,000
& 9,500
= 9,500

402 BIZ2tXt=01H 38,000 38,000 0
= 19,000
= 9,500
i 9,500

01 QIZtRHEEX 38,000 38,000 0




2 A
X XH .
(=2l

el

o .

(=]

Jio

g

2

pym
12

1N=s0HE ZoK 38,000
= 19,000
< 9,500
s 9,500

ZoHelel=Hl XI& 59,518 36,281 23,237
= 47,614
= 5,952
= 5,952

301 et2d=s 59,518 36,281 23,237
= 47,614
< 5,952
= 5,952

01 AtI2&A 59,518 36,281 23,231
1ZoHel o 46,880
= 37,504
< 4,688
T 4,688
NEo 2 9,377
= 7,501
< 938
T 938
1)Z0Hel Xt & 3,261
= 2,609




2 A

Ral Joqs =1l X
Chel: EOHOI ZXIMHIA U MEOIE K@ ELR-E
SA - FB . GI(EN) - MRAY - B2 0fl &k o o HIRE2
L= 326
i 326
HOISEAHY XA 500 490 10
= 250
= 125
= 125
301 LetEa3zg 500 490 10
= 250
= 125
= 125
01 AMIABEES63 500 490 10
1Ee SEEEH] 500,000 500
= 250
L= 125
i 125
SSHMCI#sEAMY XA 414,265 337,680 76,585
= 289,985
& 62,140
= 62,140
307 2120l ™ 414,265 337,680 76,585
= 289,985
= 62,140




A FRMEXA D
M Fos =X 5
o2l HOoHel SXIAMUIA & MEory X (&t &3
SA - FB . GI(EN) - MRAY - B2 0fl &k o o HIRE2
307 2120l M = 62,140
05 QIZtRAEZ 414,265 337,680 76,585
NSS! gSET ALY 414,265,000 414,265
= 289,985
= 62,140
= 62,140
ZOHQ =X LRt K& 12,112 100,015 287,903
= 6,056
& 3,028
i 3,028
101 el24dl 11,200 99,340 AB88, 140
= 5,600
= 2,800
= 2,800
10 JIZtHI2EXNSE= 11,200 99,340 88,140
NEoHel =XIYXtel X 11,200,000 11,200
= 5,600
= 2,800
s 2,800
201 et 912 675 237
2 456
& 228
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2 A

Ral Joqs =1l X
Chel: EOHOI ZXIMHIA U MEOIE K@ CERE
SA - FB . GI(EN) - MRAY - B2 0fl &k o o HIRE2
1O FRIXXIME =<0l l24b] 88,235,000 88,235
= 44,118
< 22,059
s 22,058
NAUHEE 22 11,800,000 11,800
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= 2,950
s 2,950
Z0HQ MsAFH EHMO HiEe 8558 &X 3,750 0 3,750
& 1,875
= 1,875
301 LetEas 3,750 0 3,750
L= 1,875
= 1,875
01 AMIABEESH3 3,750 0 3,750
NEel 8sAIEH XM e &AL & 3,750,000 3,750
= 1,875
= 1,875
00t MEXIS ALY 48,000 0 48,000
= 33,600
& 7,200
i 7,200
307 2I2+0I™ 48,000 0 48,000
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SA - FB . GI(EN) - MRAY - B2 0fl &k o o HIRE2
307 2120l M = 33,600
= 7,200
i 7,200
05 QIZtRAEZ 48,000 0 48,000
NEOO0LS MEXIZ AL 48,000,000 48,000
= 33,600
= 7,200
= 7,200
D= MEEE 10,070,329 10,086,276 A15,947
= 7,995,213
= 10,187
= 1,004,955
i 1,089,974
=D =MEBEE A S0 X 8,731,110 8,965,568 A234,458
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&2 10,187
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M 20| ZMEPE
Chel: RWD|ZMELILTT 20 N CERE
SN EB . E(B) - HBEAY - BES Ol are o HIDS2
NXARAZONL RIBEZ2 88,090,000 88,090
= 70,472
L= 8,809
= 8,809
NEARHS SR =X 1,339,219 1,120,708 218,511
= 1,035,931
= 135,045
i 168,243
NS THEdE 29| 128,267 123,868 4,399
= 86,987
= 16,427
= 24,853
307 glztold 128,267 123,868 4,399
= 86,987
& 16,427
i 24,853
02 QIZHAMNEZX 128,267 123,868 4,399
NXSTEHE SAK S8 4,000,000 4,000
= 4,000
DX ST 29| 124,267,000 124,267
= 86,987
T 12,427
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= 24,853
NEZZAMNY - 2 538,553 407,866 130,687
= 430,843
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i 53,855
307 2I2+OI™ 538,553 407,866 130,687
= 430,843
& 53,855
i 53,855
05 QIZtRAEZ 538,553 407,866 130,687
NXE2Z At -2 & 538,553,000 538,553
= 430,843
= 53,855
= 53,855
e 22 ALY 644,399 547,554 96,845
= 495,701
& 61,963
i 86,735
201 Lor2H| 10,400 10,240 160
01 Ar2teld] 5,900 8,700 A2,800
1)er=g4| 3,800
NEANE EBE HE 10,000%25* 1005 2,000
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2)XEER =& HA] 7,000%+3F %100 2,100
02 2Z22<H 500 540 240
3323 2 Al 500
)RR 250+2,000= 500
03 SAAI2EHI 4,000 1,000 3,000
DAEAREOX AT FX 2,000,000 2,000
XEALY ZHA XX As 2,000,000 2,000
202 O4dl 11,372 11,300 72
01 =UWAH 11,372 11,300 72
AIOILE E23 EA0I 75,8003 *43] 910
NAESTHE ols 75,800+3%H 23] 455
DAEAMSE SRS 75,800%3% »283| 6,368
DAEAMY 222 AS 75,800+2E 63| 910
NONEETEHAY A2 N=EHS 75,8002 *53] 758
N3322AY SXIEIEA 75,8002 *133] 1,971
301 getEasg 3,000 5,700 22,700
10 AIAHIE NS 3,000 5,700 A2,700
DAEARE M ATS A0 50,000+20H 1,000
DAHEALY EOHA XX Ash ZA0| 50,000x20E 23] 2,000
401 Al&HIZLR0HY] 619,627 520,314 99,313
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= 64,858
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N2Z2AS3H 2423 28,000,000 28,000
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HE: DR U oy
el AHE 2e) (&t &3
SA - FB . GI(EN) - MRAY - B2 0fl &k o o HIRE2
DEEL: 1,260
2)B32ZAMY F=& A 7,000%28 90 1,260
202 O4dl 2,450 2,450 0
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= 94,512
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= 7,200
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i 2,200




oF)
K
ok
ol

0
[ERS -
Wzm_xm_
il R &M
20K
3J 00 3D
Kk ™ <
T
i

_|

e

[
0

X XH

e

KIo

Hl W

600
600

A5,880

/5,880

14,056

14,056
14,056

10,660

LH3r
Lld
RIS

700
700

14,880

14,880

10,790

4,200

4,200
4,200
4,200
6,590
6,590

6,590

Off &4

1,300
1,300

400
900
9,000
7,200

m

900
900
9,000
9,000
7,200

H

H

fir

900
900

24,846

iy

rH

4,200

4,200
4,200
4,200
4,200
20,646
20,646

17,250

B

- SR1(31H) - MRAY

« X ZH
e

2 A

&0
0K
oJ
oll

201
01

2l

b

7
O

At

2,000%200%
60,000%15JH 2~

=

b

12 DIt

9,000,000

0k

=
oFJ

]

al

K-

R0
30
0B
RO

30
0K
ar
oJ

R0
30
0B
Al

oJ

350,000% 122

=

80
0K
o)
oll

— o

22

10




S FRIME TR
MM HHSHAY(FUMBXAD)
£ D=3 (Sl 2
SN EB . E(B) - HBEAY - BES Ol are o HIDS2
01 ArS2teld] 17,250 6,590 10,660
1) e8| 14,590
2)FMNEZ AMREEH & JIEIE S 6,590,000 6,590
2)ZelH Zety3a el 4,000,000 4,000
2)SAEX P2 4,000,000 4,000
DEEL] 2,660
2)FM2Z =2 7,000+ 19 20 2,660
202 44| 3,396 0 3,396
01 =2U0bI 3,396 0 3,3%
NFUMETAN 2H2Y O] 75,800% 16 *2.8 3,3%
MRS (=DIMa X2t 422,708 0 422,708
LHEHCHXIE 422,708 0 422,708
LHEHHXIE 422,708 0 422,708
701 JIEtSIHNMES 422,708 0 422,708
01 JIEtSIHNES 422,708 490,799 68,091
NeZESA SE3H M5 422,708,000 422,708




